

0.5.1

a) Obviously  $f(x)$  is continuous on  $[0,1]$

Since  $f(0)=1$ ,  $f(1)=-2$ ,

By Intermediate Value Theorem, there must exist

a  $c \in [0,1]$ , s.t.  $f(c)=0$   $\square$

b) Obviously  $f(x)$  is continuous on  $[0,1]$

Since  $f(0)=1$ ,  $f(\frac{1}{2})=-\frac{1}{2}$

By IVT, there must exist  $c \in [0, \frac{1}{2}]$ , s.t.  $f(c)=0$ .  $\square$

0.5.2

$$\text{a) } \left\{ \begin{array}{l} \cancel{f(b)-f(a)} = f(b)-f(a) = f(1)-f(0) = e-1 \\ b-a = 1-0 = 1 \end{array} \right.$$

Need to find  $c$ , s.t.  $f'(c) = e^{-1}$

Since  $f'(x) = e^x$ ,

$$\text{Solve } f'(c) = e^c = e^{-1}$$

$$\Rightarrow e^{c-1} = 1$$

$$\Rightarrow e^c = 1 - e^{-1}$$

$$\Rightarrow c = \ln(1 - e^{-1}) + 1$$

$$\text{Check } \ln(1 - e^{-1}) + 1 \\ \approx 0.54 \in [0,1].$$

then let  $c = \ln(1 - e^{-1}) + 1$

(2)

$$cc) f(x) = \frac{1}{x+1}$$

$$\int_a^b f(x) dx = f(b) - f(a) = f(1) - f(0) = -\frac{1}{2}$$

$$b-a = 1-0 = 1$$

Need to find  $c$  s.t.  $f'(c) = -\frac{1}{2}$

$$\text{Since } f'(x) = -(x+1)^{-2}$$

$$\text{Solve } -(c+1)^{-2} = -\frac{1}{2}$$

$$\Rightarrow (c+1)^2 = 2$$

$$\Rightarrow c = \sqrt{2} - 1$$

check  $\sqrt{2} - 1 \in [0, 1]$

then let  $c = \sqrt{2} - 1$

0.5.3

$$ca) \text{ Solve } \int_0^1 x \cdot x dx = c \int_0^1 x dx$$

$$\Rightarrow \frac{1}{3} x^3 \Big|_0^1 = c \frac{1}{2} x^2 \Big|_0^1$$

$$\Rightarrow \frac{1}{3} = \frac{c}{2} \Rightarrow c = \frac{2}{3}$$

$$cb) \text{ Solve } \int_0^1 x e^x dx = c \int_0^1 e^x dx$$

$$\Rightarrow (x e^x - e^x) \Big|_0^1 = c e^x \Big|_0^1$$

$$\Rightarrow 1 = c(e-1)$$

$$\Rightarrow c = \frac{1}{e-1}$$

0.5.4

(3)

$$\begin{aligned} \text{(a)} \quad P_2(x) &= f(x_0) + f'(x_0)(x-x_0) + \frac{f''(x_0)}{2!}(x-x_0)^2, \quad x_0=0 \\ &= 1 + e^{x^2}|_{x=0} \cdot x + \frac{(e^{x^2} \cdot 4x^2 + e^{x^2} \cdot 2)|_{x=0}}{2} \cdot x^2 \\ &= 1 + \cancel{x} x^2. \end{aligned}$$

$$\begin{aligned} \text{(c)} \quad P_2(x) &= f(x_0) + f'(x_0)(x-x_0) + \frac{f''(x_0)}{2!}(x-x_0)^2, \quad x_0=0 \\ &= 1 + (-(x+1)^{-2})|_{x=0} \cdot x + \frac{(2(x+1)^{-3})|_{x=0}}{2} \cdot x^2 \\ &= 1 - x + x^2 \end{aligned}$$

1.1.1

(a) ~~Test  $f(2) = -1$~~  let  $f(x) = x^3 - 9$

Test  $f(2) = -1$ ,  $f(3) = 18$

By IVT, there exists a root in  $[2, 3]$ .

(c) let  $f(x) = 65^2 x - x + 6$

Test  $f(6) > 0$ ,  $f(7) < 0$

By IVT, there exists a root in  $[6, 7]$ .

1.1.3

$$f(x) = x^3 - 9$$

(4)

(a) First, check  $f(2) \cdot f(3) < 0$

Then, apply Bisection method,

$k$	$a_k$	$f(a_k)$	$c_k$	$f(c_k)$	$b_k$	$f(b_k)$
0	2	-	2.5	+	3	+
1	2	-	2.25	+	2.5	+
2	2		<span style="border: 1px solid black; padding: 2px;">2.125</span>		2.25	

↳  $c_2 = 2.125$

(c)  $f(x) = \cos^2 x - x + 6$

First, check  $f(6) \cdot f(7) < 0$

Then, apply Bisection method,

$k$	$a_k$	$f(a_k)$	$c_k$	$f(c_k)$	$b_k$	$f(b_k)$
0	6	+	6.5	+	7	-
1	6.5	+	6.75	+	7	-
2	6.75	+	<span style="border: 1px solid black; padding: 2px;">6.875</span>		7	-

↳  $c_2 = 6.875$

1.15

5

(a) Define  $f(x) = x^4 - x^3 - 10$

Consider root finding Problem  $f(x) = 0$

Since  $f(2) = -2 < 0$

$f(3) = 44 > 0$

So, inside  $[2, 3]$ , there exists a solution.

(b) By eqn (1.1) on page 28

Error =  $|x_c - r| < \frac{b-a}{2^{n+1}}$ , where  $n$  is steps needed.

In order to keep the error less than  $10^{-10}$ ,

Solve  $\frac{b-a}{2^{n+1}} = \frac{1}{2^{n+1}} \leq 10^{-10}$

$\Rightarrow 2^{n+1} > 10^{10}$

$\Rightarrow n > \frac{10}{\log 2} - 1 > 32.2193$

then 33 steps needed.

1.2.1

(a) Solve  $x = \frac{3}{x} \Rightarrow x^2 = 3$

$\Rightarrow x = \pm\sqrt{3}$

(c) Solve  $x^2 - 4x + 2 = x \Rightarrow x^2 - 5x + 2 = 0$

$\Rightarrow x = \frac{5 \pm \sqrt{17}}{2}$

1.2.7

(a) Obviously,  $f(x)$  is continuous.

(6)

And  $g(x) = \frac{1}{3}(2x-1)^{-\frac{2}{3}}$ , i.e.  $g$  is differentiable.

Since  $S = |g'(x)| = \frac{1}{3} < 1$ ,

By Theorem 1.6,

Fixed-point iteration of  $g(x)$  is locally convergent.  $\square$

(c) Obviously,  $g(x)$  is continuous

And  $g(x) = \cos x + 1$ ,  $g$  is differentiable

Since  $S = |g'(x)| = 2 > 1$ ,

By Theorem 1.6,

F-p iteration ~~g(x)~~ of  $g(x)$  is NOT locally convergent.  $\square$

1.2.11

(a) (1)  $x = x^3 + e^x$

(2)  $x^3 = x - e^x$

$\Rightarrow x = (x - e^x)^{\frac{1}{3}}$

(3)  $e^x = x - x^3$

$\Rightarrow x = \ln(x - x^3)$

1.4.1

7

(a)  $g(x) = x^3 + x - 2$ ,  $x_0 = 0$ ,  $g'(x) = 3x^2 + 1$

$$x_1 = x_0 + \frac{g(x_0)}{g'(x_0)} = 2$$

$$x_2 = x_1 + \frac{g(x_1)}{g'(x_1)} = \frac{18}{13}$$

(c)  $f(x) = x^2 - x - 1$ ,  $f'(x) = 2x - 1$ ,  $x_0 = 0$

$$x_1 = x_0 + \frac{f(x_0)}{f'(x_0)} = -1$$

$$x_2 = x_1 + \frac{f(x_1)}{f'(x_1)} = -\frac{2}{3}$$

1.4.3

(a) (1)  $r = -1$

since  $f'(r) = 8 \neq 0$

By Theorem 1.11,  $e_{i+1} \approx M e_i^2$ ,  $M = \frac{f''(r)}{2f'(r)} = \frac{5}{2}$

$$\Rightarrow e_{i+1} \approx \frac{5}{2} e_i^2$$

(2)  $r = 0$

since  $f'(r) = -1 \neq 0$

By Theorem 1.11  $e_{i+1} \approx M e_i^2$

$$\Rightarrow e_{i+1} \approx 2 e_i^2$$

c3)  $r=1$

8

Since  $f'(r)=0$ , the multiplicity at  $r$

$$f''(r) = \cancel{0} = 0$$

is  $\{$

$$f'''(r) \neq 0$$

By Theorem 1.12

$$e_{i+1} \approx S e_i, \quad S = \frac{m-1}{m}, \quad m=3$$

$$\Rightarrow e_{i+1} \approx \cancel{-1} \cdot \frac{2}{3} e_i$$

1.4, 6

The fixed-point iteration

$$\text{is } x_{i+1} = g(x_i), \text{ where } g(x) = x - \frac{f(x)}{f'(x)}$$

$$\Rightarrow x_{i+1} = x_i - \frac{x_i^3 - A}{3x_i^2}$$